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HOFAM 2t | 1t 2,153,746 2,126,079
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= 135,061 135,061
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Mol el= 250,906 246,846
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Al 91,832 87,772
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= 105,000 105,000
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RIS IS SN EE ol 84,673 89,523

401 A&HIZL S0 35,671 40,521

01 Al&HI 34,954 39,804

OgAusE = & CTMIA} 34,954 39,804

—SaYs 24,607,000& 24,607 28,001

—LRECM 10,347,000& 10,347 11,803

MHEES (Mot 22| Dt) 129,457 100,000

2&XE 29,457 0

Btetz 0| et 29,457 0

802 BtEt=JIEL 29,457 0
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01 FNEXSBeE= 23,800 0 23,800
ON7SE 2T A =7 K& 2,450,000 2,450 0 2,450
Oloi=2+ =<*XA 21,350,000& 21,350 0 21,350

02 Al - EHIZEXZEe = 5,657 0 5,657
ON7SEHE 2T AMAH=F KA 420,000& 420 0 420
OMoi=2+ s<AA 3,660,000 3,660 0 3,660
OZxlBes 1,370,600 1,371 0 1,371
OGS a2ZEAIAIAE 205,040 206 0 206
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